

Engineering Department

City of La Crosse 400 La Crosse Street La Crosse, WI 54601-3396 608) 789-7505 FAX (608) 789-8184

August 6, 2020

PROJECT: 2020 MISCELLANEOUS SIDEWALK AND CURB RAMP REPLACEMENT (QUOTE)

To the Board of Public Works

Dear Board of Public Works Members:

The following quote proposals were received for the 2020 Miscellaneous Sidewalk and Curb Ramp Replacement project:

<u>Quote</u>

FOWLER & HAMMER, INC. LA CROSSE, WISCONSIN

\$53,598.50

Pember Companies, Inc. Menomonie, Wisconsin

\$65,822.60

The City Engineer recommends awarding the quote proposal to Fowler & Hammer, Inc. in the amount of \$53,598.50.

Sincerely,

Randy Turtenwald, P.E.

Director of Engineering & Public Works

RT:kn

Engineering Department



400 La Crosse St., La Crosse, WI 54601 • (608) 789-7505 • Fax: (608) 789-8184 http://www.cityoflacrosse.org

CITY OF LACROSSE ENGINEERING BID TAB

Project

2020 MISC SW and CURB RAMP REPLACEMENT

Contract Date

July 17th, 2020 @ 2:00 pm.

Section Title	Line Item	Itom Codo	Item Description	UofM	Quantit	Unit Price	Total
	Line item	Item Code	item bescription	OOTIVI	У	Price	Total
Project/Street- Removals							
Removais	1	1	Concrete Curb & Gutter	LF	450	\$4.50	\$2,025.00
	 	<u> </u>	Concrete Pavement (Any	L	430		μφ2,023.00
	2	4	Thickness)	SY	10	\$16.00	\$160.00
			Concrete Flatwork (Any			C4 45	
	3	3	Thickness)	SF	4000 \$1.45	\$1.45	\$5,800.00
			Bituminous Pavement (Any			\$11.25	A
	4	7	Thickness)	SY	100		\$1,125.00
			Concrete Sawing (Full			\$5.00	¢4 000 00
	5	2	Depth)	LF	200	Ψ0.00	\$1,000.00
			Bituminous Sawing (Full			\$4.00	\$400.00
	6	6	Depth)	LF	100		\$10,510.00
SUBTOTAL- Section 1							
Project/Street-							
Installations							
			Standard Curb & Gutter				
			(Including 6" Compacted			\$28.10	044 040 50
	7	100.01	Crushed Rock)	LF	425	,	\$11,942.50
			Bus Stop Curb & Gutter				
	72	122	(Including 6" Compacted			\$40.00	£4 000 00
	8	102	Crushed Rock)	LF	25		\$1,000.00
			Concrete Pavement				
			(Including 6" Compacted			\$345.00	
	9	122.03	Crushed Rock Base & tie	CV	4	40 10100	\$345.00
	10	122.03	Bars) (9") Concrete Flatwork (5")	SY SF	1600	\$6.85	\$10,960.00
	11	121.02	Concrete Flatwork (4")	SF	1800	\$6.20	\$11,160.00
		121.01	Truncated Dome Warning	OI .	1000		-
	12	120	Fields (2'x4')	EA	20	\$290.00	\$5,800.00
	13		Restoration (Mulch)	SY	16	\$16.50	\$256.00
			BTOTAL- Section 2		10	Ψ.σ.σσ	\$41,463.50
Project/Street-							
Storm Sewer							
			Adjust Existing Manhole			¢225 00	04.005.00
	14	271	Structures to final Elev.	EA	5	φ3∠5.00	\$1,625.00
			BTOTAL- Section 3				\$1,625.00
	~	TO	OTAL-Sections 1-3				\$53,598.50



Engineering Department
400 La Crosse St., La Crosse, WI 54601 • (608) 789-7505 • Fax: (608) 789-8184
http://www.cityoflacrosse.org

GRAND TOTAL BID - All Sections/All Items (not including alternates) \$	53,598	50
Fifty Three Thousand Five Hundred Ninety Eight & 50/100		(DOLLARS)
(WRITE OUT AMOUNT)		_ (
THE CITY RESERVES THE RIGHT TO REJECT ANY OR ALL PARTS PROPOSAL AND TO AWARD THE BID DEEMED MOST ADVANTAGE WHEN ALTERNATES, AS WELL AS BASE BID, ARE CONSIDERED.		
THE CITY RESERVES THE RIGHT TO HOLD THE BID UP TO 45 DAY CITY COUNCIL ACTION TO AWARD OR REJECT THE BID(S) IS ENA		BID UNTIL
Addendum Numbers are hereby acknowledge.	owledged.	
The undersigned, being familiar with the local condition and all other fact the work and having made all necessary field investigations, hereby prolabor, equipment, materials, tools, skills, and all else necessary to perfoworkmanlike manner all of the work upon which we are bidding all in accand specifications prepared by the City of La Crosse, including any add. The work shall be completed in accordance with the above bid prices. The City of La Crosse may increase, reduce, or eliminate complete individuated on project requirements. Additions or deductions shall not exceed of the total cost of the project, as awarded.	poses to furm and com cordance wenda issued	rnish all the nplete in a ith the plans d thereto.
313 Monitor St.		
La Crosse, WI 54603		
(Complete Business Name & Address)		
By:Alec Schwartz		
Title: Project Manager		
Date:		

Engineering Department 400 La Crosse St., La Crosse, WI 54601 • (608) 789-7505 • Fax: (608) 789-8184



http://www.cityoflacrosse.org

CITY OF LACROSSE ENGINEERING BID TAB

Project

2020 MISC SW and CURB RAMP REPLACEMENT

Contract

<u>Date</u>

July 17th, 2020 @ 2:00 pm.

Project/Street- Removals	1 2 3 4 5	1 4 3 7 2	Concrete Curb & Gutter Concrete Pavement (Any Thickness) Concrete Flatwork (Any Thickness) Bituminous Pavement (Any Thickness) Concrete Sawing (Full Depth)	LF SY SF SY	450 10 4000 100	15.10 33.50 2.20 13.40	\$4,500-00 \$1,340-00
	2 3 4 5	4 3 7	Concrete Pavement (Any Thickness) Concrete Flatwork (Any Thickness) Bituminous Pavement (Any Thickness) Concrete Sawing (Full	SY SF	10 4000	33.50	\$335 00 \$3,500 00
	2 3 4 5	4 3 7	Concrete Pavement (Any Thickness) Concrete Flatwork (Any Thickness) Bituminous Pavement (Any Thickness) Concrete Sawing (Full	SY SF	10 4000	33.50	\$336 00
	2 3 4 5	4 3 7	Concrete Pavement (Any Thickness) Concrete Flatwork (Any Thickness) Bituminous Pavement (Any Thickness) Concrete Sawing (Full	SY SF	10 4000	33.50	\$336 00
	3 4 5	3 7	Thickness) Concrete Flatwork (Any Thickness) Bituminous Pavement (Any Thickness) Concrete Sawing (Full	SF	4000	3.20	\$4,400-00
	3 4 5	3 7	Concrete Flatwork (Any Thickness) Bituminous Pavement (Any Thickness) Concrete Sawing (Full	SF	4000	3.20	\$4,400-00
	4 5	7	Thickness) Bituminous Pavement (Any Thickness) Concrete Sawing (Full				1
	4 5	7	Bituminous Pavement (Any Thickness) Concrete Sawing (Full				1
	5		Thickness) Concrete Sawing (Full	SY	100	13.40	\$1,340-00
	5		Concrete Sawing (Full			1010	T 1.7 10 CC
		2					
	6			LF	200	6,25	\$1250 -00
	6		Bituminous Sawing (Full			WILL	+ LASO CO
		6	Depth)	LF	100	4.00	\$ 400-00
SUBTOTAL- Section 1							\$18920 -0
Project/Street- nstallations							
nstallations							
			Standard Curb & Gutter				
	_		(Including 6" Compacted			412 00	
	7		Crushed Rock)	LF	425	42.00	\$17,850-00
	1		Bus Stop Curb & Gutter				
	_		(Including 6" Compacted				
	8	102	Crushed Rock)	LF	25	52.00	\$1,300-00
	İ		Concrete Pavement				
	ĺ		(Including 6" Compacted				
	1		Crushed Rock Base & tie				
	9	122.03	Bars) (9")	SY	1	100.00	\$ 100 -00
	10		Concrete Flatwork (5")	SF	1600	6.60	\$10,540-00
	11		Concrete Flatwork (4")	SF	1800	7.00	\$12,400.00
			Truncated Dome Warning			and the second	
	12		Fields (2'x4')	EA	20	55,00	\$1,100 -00
	13		Restoration (Mulch)	SY		63.60	\$1.07-40
		SU	BTOTAL- Section 2				\$44,527.6
Project/Street-							
Storm Sewer					l		
			Adjust Existing Manhole				
	14		Structures to final Elev.	EA	5	475,00	\$2375-00
		SU	BTOTAL- Section 3				\$2376 00
TOTAL-Sections 1-3							\$65,800.00



Engineering Department

400 La Crosse St., La Crosse, WI 54601 • (608) 789-7505 • Fax: (608) 789-8184 http://www.cityoflacrosse.org

GRAND TOTAL BID - All Sections/All Items (not including alternates) \$ 65,822 Staty-five thousand eight hundred twenty two 6/20 DOLLARS) THE CITY RESERVES THE RIGHT TO REJECT ANY OR ALL PARTS OF THIS BID PROPOSAL AND TO AWARD THE BID DEEMED MOST ADVANTAGEOUS, TO THE CITY WHEN ALTERNATES, AS WELL AS BASE BID, ARE CONSIDERED. THE CITY RESERVES THE RIGHT TO HOLD THE BID UP TO 45 DAYS FROM BID UNTIL CITY COUNCIL ACTION TO AWARD OR REJECT THE BID(S) IS ENACTED. Addendum Numbers are hereby acknowledged. The undersigned, being familiar with the local condition and all other factors affecting the cost of the work and having made all necessary field investigations, hereby proposes to furnish all the labor, equipment, materials, tools, skills, and all else necessary to perform and complete in a workmanlike manner all of the work upon which we are bidding all in accordance with the plans and specifications prepared by the City of La Crosse, including any addenda issued thereto. The work shall be completed in accordance with the above bid prices. The City of La Crosse may increase, reduce, or eliminate complete individual bid item quantities based on project requirements. Additions or deductions shall not exceed fifteen percent (15%) of the total cost of the project, as awarded. Pember Companies Inc N4449 469th St. Menomonie WI 54751 (Complete Business Name & Address) Title: President, Brent Pember